
Qualification-Final Examination                                                

 Name ____________________________________Date_________________

1. How many increments does one click move the windage and elevation in WFOV for your TWS: 
(a) 1	
(b) 3
(c) 4
(d) 2
(e) none of the above
2. The MWTS is intended for use on: 
(a) M24 7.62mm Sniper Rifle
(b) M249 5.56mm Machine Gun
(c) M240 7.62mm Machine Gun
(d) M4 5.56mm Carbine
(e) B, C & D above 
3. The TWS batteries should be warmed in cold weather by: 
(a) Warming them over a fire
(b) Microwave oven
(c) With body heat, by placing them in an inner pocket 
(d) Placing them on the engine block of a running vehicle
(e) All of the above 
4. When zeroing your HWTS in NFOV the windage reads 8R your QRC scale says you need to move 14L what will be your new reading: 
(a) 6R
(b) 32L
(c) 22R
(d) 6L
(e) none of the above 
5. TIR energy effectively penetrates: 
(a) Dust
(b) Most Smoke
(c) Water
(d) Glass
(e) A & B above 
6. The diurnal cycle is: 
(a) The heating/cooling cycle through a day
(b) The effect of water on the thermal scene
(c) The period of time between latrine visits
(d) None of the above 



7. The gap between vertical lines of the MWTS M4/M16 reticle is: 
(a) The height of a tank at 100 m
(b) The height of a tank at 300 m
(c) The height of a man at 100 m
(d) The height of a man at 300 m
(e) None of the above 
8. The TWS should be calibrated: 
(a) Once
(b) Before zeroing
(c) Whenever needed
(d) More frequently during the first hour of operation
(e) C & D above 
9. What are the TWS modes: 
(a) off/on
(b) operate/standby
(c) emergency/zero
(d) all the above
(e) None of the above 
10. The 25m offset for your thermal weapon sight: 
(a) 5.9 cm
(b) 3.5 squares
(c) 8.7 cm 
(d) 1.01 in
(e) None of the above 
11. The TWS is water resistant to: 
(a) 1m
(b) 10m
(c) 30m
(d) 100m
(e) The TWS is not water resistant 
12. TWS detection range: 
(a) Is typically greater than that of an NVG
(b) Will degrade in high humidity
(c) Is not significantly affected by most smoke
(d) Is not affected by absolute darkness
(e) All of the above 
13. Manual Gain and Level: 
(a) Should be used when time and circumstances permit
(b) Should be used when needed to pull detail of interest out of a scene
(c) Adjust the range/span of scene temperatures mapped to the display
(d) All of the above 




14. Alkaline Batteries: 
(a) Should never be used in the TWS
(b) Cannot be used in the TWS in high temperature environment
(c) Provide better battery life than lithium batteries 
(d) None of the above 
15. How are the MWTS and HWTS controls different: 
(a) MWTS does not have a mode button
(b) HWTS does not have a FOV button
(c) MWTS does not have the 5 way control 
(d) They are the same
16. The MWTS on an M249 is zeroed for a range of: 
(a) 25m
(b) 100m
(c) 400m
(d) 200m
(e) The TWS is Sight aligned to this weapon 
17. The HWTS max effective Pd/r range for personnel (clear air) is: 
(a) 2000 m
(b) 500 m
(c) 650 m
(d) 3110 m
(e) The HWTS is not effective for recognizing personnel
18. How can thermal blooming be reduced: 
(a) switching the FOV
(b) changing the Auto
(c)  turning the TWS off then back on  
(d) performing shutter calibration
(e) A & B
19. The Diopter ring: 
(a) Adjusts the focus of the display for the users eye
(b) Is the control to adjust if the symbology is out of focus
(c) Should be adjusted with the lens cap closed 
(d) Should only need to be set once if the user properly engages Eyecup
(e) All of the above 
20. At 25m, one MWTS NFOV Reticle Click moves round impact by: 
(a) ≈ 0.42 cm
(b) ≈ 1.25 cm
(c) ≈ 0.65 inch 
(d) ≈ 0.84 cm
(e) Different amounts depending upon direction of movement 

